
LEBENSOHL SEQUENCES 



What are the meanings of the following 
sequences: 

 

(A) 1NT – (2) – 2 

(B)  1NT – (2) – 3 

(C)  1NT – (2) – 2NT – (pass) -  3 - (pass) - 3 

 

(A)Weak hand with long hearts; 

(B) Strong hand (13+) with five hearts; 

(C) Invitational hand (11/12) with five hearts. 



What are the meanings of the following 
sequences: 

 

(A)  1NT – (2) – 3NT 

(B)  1NT – (2) – 2NT – (pass) - 3 - (pass) – 3NT 

(C)   1NT – (2) –  3 

(D)   1NT – (2) – 2NT – (pass) -  3 - (pass) - 3 

(E)   1NT – (2) –  3 

(F)    1NT – (2) – 2NT – (pass) - 3 - (pass) - 3  

(G)   1NT – (2) – 2NT – (pass) -  3 - (pass) - 3 

 

 


